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L. (10 points) A helicopter is flying with a
constant horizontal velocity of 180 km/h
and is directly above point A when a loose
part begins to fall. The part lands 6.5 s
later at point B on an inclined surface. De-
termine the distance d between points A
and B, and the initial height h.
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[, (10 points) The pin P shown in the Figure Vo
moves in a parabolic slot cut in a reference >
frame, and is guided by the vertical glot in £ Y= 7
body B. 1f 2 = 0.05t* m, find the gecel- i
cration of point P at t =5 s Alsg find '
the time(s) when the z and y components ﬂ,
of the acceleration are equal. A /;/ L,
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L (10 points) A projectile is launched from

POt A with the initjal conditions shown o, . = B enn Sy

in l,-llm figure. Determine the distance s op =1 4= s %

the incline, and the time of flight uJ V4 "; = S,
HQ"\"SO V\J’Q_Lbj A _ B 800 m . _‘\h\\\\. )
— N ~

P(& ) ?(A-‘- UAr'EAR
804 Qcoy 20 = o 4 l2ocosYo E

EM& = q\.qgﬂ_—-(u
VQV‘HCJ.\»/) A-B
\ 1
%6 = 9+ ytas — L g G
—Q sh2o= © t I2o iAo + “Ji(ﬂ'gl) _t_'a.

Eﬂg - 3103 & —W—{U

From (2)

i}
S _99C. 53 41434 ¢
21,99+ + 13.5e4 ¢ = T-93F

— subshmle in (1)

00 —~
12.56y £ — 363.92 T 4 800=0
Q

| k.= 305 S =p(8'= ~552.8 m

| X
fre  omswes 1S LS‘ = 10’25.7@%





{"type":"Document","isBackSide":false,"languages":["fr-fr"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["fr-fr"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["fr-fr"],"usedOnDeviceOCR":false}



